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ETC 11-01

à la Concordia de Vétroz

© Copyright 2002 by WOODBRASS MUSIC SA - CH-1724 PRAROMAN - All rights reserved - Photocopie interdite

Allegro vivace ( q = 168 ) 
SCHERZO FOR BRASS Etienne Crausaz (* 1981)
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Soprano Cornet Eb

Solo Cornet Bb

Repiano Cornet Bb

2nd Cornet Bb

3rd Cornet Bb
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Bass Trombone
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Poco meno  ( q. = 144 )
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N 0 0 0 G
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Sop. Cor.

Solo Cor.

Rep. Cor.

2nd Cor.

3rd Cor.

Flug.

Solo Hn

1st Hn

2nd Hn

1st Bar.

2nd Bar.

1st Tbn.

2nd Tbn.

B. Tbn.

Euph.

Bass Eb

Bass Bb

Timp.

Perc. 1

Perc. 2
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2
1

2
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2
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5
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G
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BM 5M 5� 5 5 5 5� 5� 5M 5� M BM BM 5M 5� 5 5 5 5� 5� 5M 5� M 5� M 5M 5� = = 4M ?M 4M = =
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�� 5� = = 4M 0

G
ff

BM 5M 5� 5 5 5 5� 5� 5M 5� M BM BM 5M 5� 5 5 5 5� 5� 5M 5� M 5� M 5M 5� = = 4M ?M 4M = =
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5
�� 5� = = 4M 0

G
ff

BM 5M 5� 5 5 5 5� 5� 5M 5� M BM BM 5M 5� 5 5 5 5� 5� 5M 5� M 5� M 5M 5� = = 4M ?M 0 0

G
ff
5� = = 4M BM '� M
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5� = = 4M

ff
BM '� M

mp

5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

G
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= 5� M B� M
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mp

= 5� M B� M
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'M 5� = = 4M ?M 0 0

G
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mp

= 5� M B� M
ff

'M
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= 5� M B� M
ff

'M 5� = = 4M ?M 0 0

G
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5� =
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ff
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G
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G
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= 5� M BM
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5M 5� 5 5 5 5� 5� 5 5� 5 5 5 5 5 5 5 5 5 5� 5� = = 4M ?M 0 0

G
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5M 5� 5 5 5 5� 5� 5 5� 5 5 5 5 5 5 5 5 5 5� 5� =
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G
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G
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= 5M BM
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'M
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5� =
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5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

�
ff
5� �
=

mp

=
5M BM
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'M
sf
5� �
=

mp

=
5M BM

ff
'M 5�

= = 4M ?M
mp
5� = 5 4M 5 5� � 5 5 5 5� � = = 4M ?M

G
ff

5� = = 4M ?M 4M 5� 5 5 5 5� 5� 5 5� 5 5 5 5 5 5 5 5 5 5� 5� = = 4M ?M 4M 5� 5 5 5 5� 5� 5 5� 5 5 5 5 5 5 5 5 5 5� 5� = = 4M ?M 0 0

G
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=
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= 55MM BBMM
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''MM
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=
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= 55MM BBMM
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G
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ff

'M
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= 5M BM
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'M 5� = = 4M ?M
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�
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5�� 5� 5� 5M 4M 0 = =
mp

5�� 5� 5� 5M 4M
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MMM�M
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mp

MMM�M
f
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mp
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ff
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f

0 0 0

G
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Sop. Cor.

Solo Cor.

Rep. Cor.

2nd Cor.

3rd Cor.

Flug.

Solo Hn

1st Hn

2nd Hn

1st Bar.

2nd Bar.

1st Tbn.

2nd Tbn.

B. Tbn.

Euph.

Bass Eb

Bass Bb

Timp.

Perc. 1

Perc. 2
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2
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� = = 4M 4M 5
� = = 5
� = = 4M 5
� = = 4M 5
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55 55 55 55
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 5� 5� 5� 5! 5� 5� 5 5 5 5 5 5!

G 4M
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� = = 4M 5
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5
� = = 4M 4M 5
� = = 5
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mp
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G ?M
mp
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5 5 5 5

� = 5� 5 5 5 5
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G ?M
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5� 5 5 5� 5� 5! 5
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5
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mp
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5 5 5 5
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� 5
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� = = 5

� = = 4M 5


� = = 4M 5
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� 5

� = = 4M 4M 5
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G 5� = 5 4M 5 5�
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� = = 4M 4M = = 5


�
5
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�
5

� = = 4M 4M 5
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5
�
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�
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�
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�
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�
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�
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ff

?M 4M
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5
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� = = 4M 4M 5

� = = 5


� = = 4M 5
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Sop. Cor.

Solo Cor.

Rep. Cor.

2nd Cor.

3rd Cor.

Flug.

Solo Hn

1st Hn

2nd Hn

1st Bar.

2nd Bar.

1st Tbn.

2nd Tbn.

B. Tbn.

Euph.

Bass Eb

Bass Bb

Timp.

Perc. 1

Perc. 2
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G
55 55E 55 55 55�

55 55 55EE 55 55 55 55�� 55�� � 4M
55 55� 4M 4M = =

sf

55
�� � 55
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5
� = = 4M 5
� 5�� ?M 0 =

mf
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Lento ( q = 72 )    ( h. = q )
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Sop. Cor.

Solo Cor.

Rep. Cor.

2nd Cor.

3rd Cor.

Flug.

Solo Hn

1st Hn

2nd Hn

1st Bar.

2nd Bar.

1st Tbn.

2nd Tbn.

B. Tbn.

Euph.

Bass Eb

Bass Bb

Timp.

Perc. 1

Perc. 2
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2
1

2
1

2
1

2

1

2
1
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B
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5 5� 5 5 5� 5 B
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dim al niente
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G
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f
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f
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f
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f
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G
'M
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�
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5
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5
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f
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5
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' ' 5� = B� M ' BM 5� = ' BM 5� =

G 'M
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5
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f

= 5
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5
�� B B = 5
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f

= 5
�
dim poco a poco

5
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�
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f
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f
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� 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

N
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f

0
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